Sub Item #
40925
87252
87254
87256
87258
87260
87282
87284
87286
87288
87290
87312
87314
87316
87318
87320
87340
87342
87344
87346
87348
87370
87372
87374
87376
87378
88434
88435
88436
88437
88438
92370
92371
92372
92373
92374

Kit Item List

Sub Item Description
40 SPACE GRAY METAL EMPTY STORAGE BIN 12" DEEP

1/4-20 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 X 2-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 X 3" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 2-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 3" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 2-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 3" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
7/16-14 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
7/16-14 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
7/16-14 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
7/16-14 X 2-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
7/16-14 X 3" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/2-13 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/2-13 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/2-13 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/2-13 X 2-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/2-13 X 3" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
5/16-18 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
3/8-16 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
7/16-14 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
1/2-13 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
1/4" STAINLESS STEEL FLAT WASHER 18-8(304)

5/16" STAINLESS STEEL FLAT WASHER 18-8(304)

3/8" STAINLESS STEEL FLAT WASHER 18-8(304)

7/16" STAINLESS STEEL FLAT WASHER 18-8(304)

1/2" STAINLESS STEEL FLAT WASHER 18-8(304)

Quantity
1
25
25
25
20
20
25
25
25
20
20
20
20
20
10
10
10
10
10
5
5
10
10
10
5
5
50
50
50
25
25
50
50
50
25
25



